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ECONOMICS
Paper : ECO-RE-6016/6026/6036
( Regular Elective )

Paper : ECO-RE-6016

( Economic Development and Policy in India—II )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer any ten of the following questions :
1x10=10
ool 2Py R e webr e fiown

(@) On which year was Food Corporation of
India (FCI) set up?

@ TS SRS A S R 41 C2fRe 7

(b) Mention one objective of new industrial
policy of 1991.

’55d R TP S MW o1 o
forar 1
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(2)

What is MUDRA?

(3)

SRT AT @weR Tge cwas (R IS

(© TG S SRR <51 o ot |
MUDRA 7 (k) What is the main purpose of the .
(d) In which year India became a member of agricultural price policy in India?
WTo? TRES R o7 MR oy Teve R 2
(P o® WTOS 315 t2fee 2 () Point out one export promotion measure.
(e) Define foreign investment. IR PR 1 I gl foa |
e Rivanem e fi
. (m) Mention one difference between small-
- () Write (lmeaiausedd regional variation of scale and cottage industry.
agricultural productivity in India.
¥ in India T T oF 0T S e @bt oy
et IR Cemien wehe sromreR By 01
PR BT FRT oy |
‘(g Point out one achi f land (n) State one feature of WTO.
g chievement of lan
reforms in India. WTOR b1 &3R8 ez 31 1
SRS PR FFRI Bt T S ) (0) What is balance of trade?
(h) What are the purposes of short-term MARF TR ST I R g 2
- agricultural credit?
ZIOM IR 91 SoR R g 2. Answer any five of the following questions :
. . 2x5=10
() Mention one name of loss making public orPIRE R GRIGT Hob ) v
sector undertakings in India_ o R v .
TS CARFOH O} <1 reegy 67 51 Brwe (@) What is disinvestment in public sector
™ ot | ' undertakings?
() Write one solution to the growing TN 197 e PR e &
problem of deficits i balance of ©in?
ents in Indig,
paym dia ~ 22A/885 ( Turn Over)
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(b}

()

(@)

(e)

(4)

Mention two factors responsible for poor

performance of land reform:
in India. " progmERe

IE T

W:te two important strategies for
industrial development in India

RS T I 1 e (T

Mention two probl

. €m, -
scale industries jn Infii:aced by small

9

(S)

What are the initiatives taken in Aatma
Nirbhar Bharat Abhiyaan for revival of
small-scale industries?

TG SOOI PRAR IE SRS TS
SRS & & Aot @ (xR ?

Highlight the periods of current account
deficit in balance of payments of India.

TRy AR R Tges she ReeR
cwae il TIfos SRl Seay F91 |

3. Answer any four of the following questions :

5x4=20

T 2P R e wikbR T faw -

(a)

Mention some measures to raise
agricultural productivity in India.

in Indjg, SReS FRY Berm P/ TR W FVEA
ORe]
qﬁTﬁ;ﬁirﬁEZST“n@ms ; - 3 T I
(p) What are the factors responsible for
() Name two mounting crisis in balance of payments
enterpriseg wh?;al public sector in recent years in India? ‘
. ‘Mah ’ ha 3
aratna’ stapy g in Ind;’: received S
TS . Roe MR EFere Tgad
BN Tt e cvge R A1 I EHe TeIE TR B
ﬁkﬂ‘ﬂiﬁ?»ﬁ“ﬂ”‘“$r$é£:TFiiﬁ?7ﬂﬂieﬁﬂ 9
22A/885 20A/885 ( Turn Over )
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(©)

(d)

(e)

(9)

(h)

22A/885

(6)

i
in}:rlzlam thf: role of foreign direct
stment in Indjay €conomy

SO Wi ow
S R s L

Explai i rtan
; ;1:1 n.the mportance of industries in
omic development of India

Sy ¥
S R S SR g3y Al

Point out th X
; € objecti
in India, Jectives of land reforms

e T
WW‘RWWl

Explain )
public Seétl;_ :lil.lor Problems of the
€Tprises in India

SHOT T vy

q
61 ¥4 | AEPORET 2perr s
Brieﬂy expl .

! ain
agriculturg] the present state of
marketing in India

Mention
in industri:1 Fctors affecting slowdown
time. Wth in India in recent

(7))

4. Answer any four of the following questions :
10x4=40

o) eppied R e iR Te fa

(a) Discuss the trends in agricultural
production in India since independence.
FATer Pize sHes FR Teoma  sfeurn
A SACADAT 4T |

(b) Explain the phases of industrialization
and its growth in India.

SRET ST S FE e ez 39
Sl

(¢) What is agricultural credit? Discuss the
various sources of agricultural credit in

India. :
M 49 e B @2 srwe $R 3@ [ien
TP I 91 |

(d) Evaluate the performance of public
sector undertakings in India.

SR qreEdl 199 AT FRigw e 74 |

fe) Discuss the balance of payments
position of India since independence.

TR Pree eRey Ififtye e Tged
S@EE REc S F47 |
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0

(9)

Dis
Ind;:: :Islct[h ¢ role of cottage industries in Paper : ECO-RE-6026
mention its weaknes
ses.
1857-1947
;I::Tw IO e W"""R S [ Economic History of India ( )1
} ARl Full Marks : 80
(9) Explai ime
a;l?cilfturalﬂ;; main  features  of ~ Time: 3 hours
c icv i .
S © Policy in India. ' The figures in the margin indicate full marks
IR T Mg A1 ?ﬁﬁ?}maﬂw, for the questions
] tVlVll:a; ex: agriculturag marketing? Expiain Answer either in English or in Assamese
I ects of agricultyra] marketi?:g in
) 1. Answer any ten of the following questions :
R " 1x10=10
;ﬁm,;zﬁ ﬂi'c"ﬁ’i@ﬂ?wﬁm Sord oA R e Wb T i
TRER R-@
i G I {a) What is meant by colonial economy in
ive an overviey, of foreion India?
flows in Ing; reign investment
— sRes ST SR o R em e
ﬁﬁtﬂ]ﬂq
el TR et o (b) What was the main focus of the colonial
0 c economic policies in India?
ritically eval
. . u
policies Undert:] te various agricultural SRed SifaPe adtafes MM T FERg
1990, *1 in India during post % onfer 2
Sdvo By TR . . e as
Rty RS TS (c) What is meant by commercialisation of
iy IR %T; ;'Wmﬁ" KAl Indian agriculture?
i e
RO $RT AP e R @ W2
o 22A/885
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(d

(e)

(9

)

)

22A/885

( 10 )

P/Ientio.n one cause of recurrent famines
in India during 1857-1947.

LSV BT ] 3584 BLE ©ww Nged X

W@Wﬁ%mﬁwl

What is deindustrialisation?

PrsaleRme R 9

What was the most important industrial
infrastructure de

.rs veloped i ia durin
British Rule? ped in India g

WWW@W srrete @9
mmg’“mﬁwﬁﬁ?

What was th

. e first kin
institution in known banking

India?
ISR A A Qe SR T ?

Menti
I.Itlon One source of non-institutional
agricultura] ¢

" edit { i i
British Rylc. in India during the

= P e
Bk bl
Wﬁﬁwﬁmmwgﬁ

X land ref: i dia
during British Ryper s T O

o TP STy
TRE ) FH oS B A

( Continued )

G

(k)

(11)

Who first calculate national income in
India?

TRAOS (I 4 T o a1 e 2

What was the main source of
occupation of the people of India during

~ the British Rule?

)

(m)

m)

(o)

22A/885

ors PR STEERTS SRON W ik
fAdfizs 771 Bt & wifeen 2

What were the main reasons for slow
growth of population of India during
British Rule?

PR P HERE SRR TPRIN
ezl 3R o TR & wifde 2

Mention one reason of economic
underdevelopment of India during the
British Rule.

P TP TRAT SRy ALASE
TIPSR 9Bl IR STEY 9 |

What is trade surplus?
Ffifess Tge ¥ 2

What are cash crops?

SR PR R 2
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2.

(a)

(b)

(c)

@

(e)

22A/885

(12 )

Answer any five of the following questions :

Wmﬁ@mﬁsﬁﬁw%:

Mention two cause
production of |
Rule. -

PR s
PR B SRS R Ay Seotre T

es of low agricultural
ndia during the British

SEPSRp==

. 2X5’10

( Continue?/

]

(g)

)

(13)

State two positive effects of British
colonialism.

for BAREPRIE 101 2 2o e 1 |

What were the main items of trade
during British India?

e SRex TwETe SReW AT T
AR R et 2 '

Mention two sources of capital flows to
India during British Rule.

e PR S SIS oI ST o1 Tt
BeE 401

3. Answer any four of the following questions :

o ST R A iR e R

(a)

)

22A/885

Mention five features of Indian
agriculture on eve of independence.
AR-FROPEE SHeN PRI A6 e
BEe )

Write a note on land settlement policy of
India during British Rule.

o PR RS e Bf TS AT
SIS 9B BT foT |

{ Turn Over )
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(e)

(9)

L

i)

1/}

22A/885

( 16 )

- olution of agricultural

¢y in India during 1880-1919.

SbVOWﬂm)b)bWW?ﬁﬁ?ﬁﬁ
aINEE

Explaj
*plain the causes ang consequences of

co s
i ereialisation of Indian agriculture
TIng the British Rye.

m-m oxdn TR
TR A et o 41 |

Discuss the effec

economy during ts of famines on Indian

British Rule.

Wrx =g
TS SREN )

AR SO 2y | wAife 7
Narrate ¢
after 1 857.8 Industrig Policy of Indi2
S

P P S v e <o 9
Wl‘ite a no

t :

during Briufa 71 Browth of towns in India

ae Sh periog.
Ort forar SR J55 T 8o S bl

Explain
. ¢e
Indian econon?; Cts of World War—I on

Wq%m"‘ﬁ"‘l‘mmmafml

(17 )

Paper : ECO-RE-6036
( Public Finance )
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten of the following as directed :
1x10=10
o R @I wRBR Rl e fa -

-{a) What is public finance?

R RS T QI ?
(p) What is meant by social welfare?

iR Fema 3 R o e

() Write one social significance of public
finance.

1R ReY GO TR wreerf T |

(d) Mention one source of public revenue.

TRTIR IR 61 =7 Seww 91 |

22A/885 ( Turn Over
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(e)

(9)

(h)

0)

(k)

U

(m)

22A/885

(18 )
Give one example of public good.
TR 7] <61 et i |

Define tax incidence,

FIRCT SR et fo

What is externality?

Ml 2

Wri !
rite one objective of fiscal policy-

%“‘@Wﬁ‘ﬂl

What ig deficit budget?
M s o

Wh .
Gs 1S the full form of GoT?
Tq 31““10( B o

Give an
Xample of direct tax.

What iq bt

€ capacity?

9

(19)

(n) Fiscal federalism attempts to define the
financial relationship between Centre

(0)

and

(Fill in the blank)
TR [SEN TNER (FE AT I

e Rl TR P TCEd A |

(4150 312 = <)

Write one significance of local finance in

India. :

et Ty 8T 9N «bl 8%y TE 91|

2. Answer any five of the following questions :

WWﬁ@mﬁwﬁﬁ%@ﬁm:

2x5=10

(a) Write two characteristics of public good.

(b)

(c)

4l 22A/885
finh’
(Cor

el TR 1 CafiEs forsi |

Write two differences between public

finance and private finance.

sl fe oF Jfeas fes aEe o7 Wl

spefey fordr |

Define market failure.

T&[ Reeror kel fal |

( Turn Over )




(@)

(e)

(9)

(hy

T ﬁﬂ’ﬁl@
ﬁ @m
wﬁte mﬁﬁ]ﬂ % ﬁ‘ﬂ :
= @ note
Socia] quareﬁn how equity of tax b rings

{a)

(20 )

What are the
two s
taxation? types of incidence of

Define cap
budget.

Eﬁ%m%mmﬂ@ﬁmi

Menti i
On two objectives of budget.

W@‘Wﬁm,

Mention
two
federalism i, Inldr?f ortances of fiscal

S T
S 9 WW@IW

G.ive two reag,
direct tay in In

ital budget and revenue

n‘s of why tax base€ of
dia is small.

RS
Heors
S TARR o gam H T

(b)

(c)

(@)

(e)

()

(21)

Discuss the characteristics of good tax

system.

51 o 9 AN CAFBICI SCEe 4 |

Show the difference between absolute
and relative taxable capacity.

WWW’CWWWWWW’HW
GEIll

Explain the role of indirect taxes in
developing country.

mﬁﬁmmw?ﬁwwme|

n few measures taken by Indian

Explai :
lify taxation process

Government to simp
in the last five years.

Wﬂmﬁﬂ@%wiﬁw
mﬁﬂﬁwm@ﬁquaﬁ
740 |

What are the determining factors of
taxable capacity of a country?
9% mwwm@ﬁﬁaﬁ%w

R

Explain the limitations of fiscal policy.

WWWWW[
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(24

() Do you think that after implementation

of GST in India problems of indirect tax

collection are solved? Giye your views in
this regard.

WGSTW??’M‘NWWW

TR TP SIS G111 9 SR 2 o
CRIS (IR TS 1oz |

() What are the ma;

issues.

SReY jﬂgﬁq TSE TRwR
e Wﬁ@ﬁww
R Mo TR, 3¢ 2y | e o

LE 2
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